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CHAPTER-6- DIVISION 

EXAMPLES- 

Problem-1- Chutki had 14 laddoo . She gave 2 laddoo 

each to her friends. To how many friends did she give 

laddoo so? 

Solution – Chutki gave 2 laddoo each to 7 friends. 

i.e, 14÷2= 

 

Problem-2- 12 cherries are out into 4 baskets ,each 

having the same number of cherries. 

How many cherries are out into each basket? 

Solution-There are 3 cherries in each basket. 

i.e,  12÷4= 

 



Problem-3- There are25balls,which are divided into 5 

groups each having the same number of balls . How 

many balls are there in each group? 

 Solution- There are 25÷5 =___ balls in each group. 

 

Homework-Solve it. 
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